04 RIZAIDF AT

Eert wZ3)|| KB 1B AS(1) U10

(2016.12.231F S>+>Ji#EMA]

AT AfE RE B Bp kb el
1|01 {R7%E GRS AJTA Bt 8 4-0 4-0 2-0| 14
2| BAR BEAKER |7 5 s%(8| 0-4 3-4 0-2| 31
3| [BAR R TOM Tennis Planning | Bt | 8 | 0 - 4 4-3 1-1| 2fu
4

BJ0 A = 2B 1 X B ER !
1[0 ¥ FRE SSALZWIZ S| 8 4-2 0-4 1-1| 3Mu
2| |PulEp AEIE B8] 2-4 0-4 |0-2]| 44
3¢ FeFE ASA] |TOM Tennis Planning | Bt | 7| 4 - 0 3-4 |1-1]| 2f1
4|05\ FH BB IA4=>3ayh S| 8 4-0 4 -3 2-0| 14

B = 5 R 7 (o) .

1| IR B2 | 9 4-0 4-1 2-0| 11z
2| |REEIEE |[emthER g9l 0-4 0-4 |0-2]| 4f
3 || Y& EBIRER VryH>2RFEE | B[ 9| 1-4 4-3 |1-1| 3x
4|ss0| L7 PRNE SSAL=w52 S| 8 4-0 3-4 1-11| 24z
U=l FE5E1E) (5>F>IRA> NE 5]
- FiBY—-J1&. NBAIRI = A NeITRVET, 1,2 N—F XN 3,41 =Xk B2 23
‘BCTOwIEHE AL, 1vs2-3vsd/1vs3-2vsd/ D25 EZITVET B 16
JEACREFSEG. OB QBEETR OF/KRE @F>F>) DIEBETRELEY, N2 8
“FIE 45 - LNEEJ -7 RIS T -SHROFE AV 3
A 64— LFEEL - TR T—SHROTE 340080 2

ABRAON 11 (HBEOSIAKTESSHD)



e 22D FAHYT
Gk T
FrLJSivys

Rk Bifp S HEXER

AJTA J7 H5

bye bye

Rz Bidn Sz TN
o 60 65
st A FIED T
TOM Tennis Planning
bita AL =ik IRE
= 61 ot oo 65
jbeh PHHE TR BEEE
SSALZWIR SRR
FRiE i ais e
_ 62 \ 61
BR 7R iE ERER
TOM Tennis Planning w2 B2 FEH
T B2
63
AR B2E bye
= B8 ais e
63 64

bye bye

= B8 At HE

A= 3avb

1,2 h=F A b

R K 1HKXK=(1) U10

3,4 h—=F ATk

SSALZYIR



RIZAIDF AT

jor
L

Esrt #Z3)|| AR 1HAS(1) U12

(2016.12.231F S>+>Ji#EMA]

AL e BIEE % I o[ &8 Al g
1|38/ 518 EHIBE |SSAL=wIZ it | 10 1-4 4 -2 1-1| 3
2 |s26| {AC R TEME JPAVKTZF-SREAHN | B |10 4 -1 1-4 1-1| 21
3 || PaTER ANZR k|11 2-4 | 4-1 1-1| 1
4

B0 T = = )
1|26 BSE 1R |mmoa=77—27h7E- | BiE| 10 2-4 4-0 1-1| 2Mu
20 8 A VREBFE A TS | B (10| 4 - 2 4-0 2-0| 1fI
3| S5 FEF [ZyrN 7|11 0- 4 0-4 0-2| 3Mu
4

] iilzs = o h G

1 (32| YA = BBY1=7F-A7hFE- | ik | 10 4-3 4-2 2-0| 141
2|mo| 258 BRR  [mmmesssamismuns| BE[10] 3 - 4 4-2 |1-1| 2f1
3|o7| T IR w11 2-4 0-4 |0-2]| 4
4l AR |[hEREROF-2H-7> | B 8 2-4 4-0 1-1| 3Mu
UL—IL-FEFIE] (S>F>TMRA> MR 53]
PRI, NERIRI b—F A MATRVET, 1,26 h—F Xk 3,4(18—FX> b = 38
-BCIOYIEH&E(E. 1vs2-3vsd/1vs3-2vsd/ D2 EZITVET HEERS 26
JECRETSER. OBSEY QEESTR OFKRE @30F>) DIRETRELFT, AV 13
‘& 45— LFEE -7 RIS T -2 HBROFE AVARS] 5
<ARE 65— LFEE -V RIS AROFE 3,408k 3

ABRAON 11 (HBEOSIAKTESSHD)



0 ZADZ2ID2(F AT

- . i
: yJ p— I’ &nggge Match

FrLISvws ) K% 1A RK=(1) U12

1,2 h=F A b 3,4 b= A2k

EEIES AiE HIE
SSALZYIR
aE BiEE
62
bye I B
=1k 223N aif HEE
62 . 61
s 18K AT UEK
B 1=TFIATNTE- | NEREROFZRA-F>
HiE BIPR A IE K
== Igpx °5 B[] FE= 62
=% PR EJII =
[l R A e vy o v [ :\yb-]}ll |\>
18 A
60

{R% ik
JPAY KT RS~ SR
MHHE 3

61

i e

BRESI1ZFTATHTI-

bye

18 IEA

WHREFPEASTZ2ALYS




op

FrlLIJIvyF

(2016.12.231F S>+>Ji#EMA]

RIZAIDF AT

123 || AR 1AAS(1)

ui4

A [] B = = By
1|77/ REF 18 B |12 4-1 4-1 2-0| 141
2| |F&F RBA (12| 1-4 3-4 0-2| 3z
=R ) TSR sErl13] 1-4 4-3 1-1| 24z
4

B_J [ = = R E: = 5
1|43 125 1B HFEAOD->7222-)0 | Bk |13 4-3 4-3 2-0| 1Mz
2| |FTR MK Bi|13] 3-4 4-2 |0-3| 31
3| |IE SEAER BISP sHl12] 3-4 1-4 |0-2| 44
4|\ {f BEBZES | J17U-722T4-54 | i |13 2-4 4-1 1-11| 2z
U= B EIE] (S>3 TRA> M5 )
< FiEY—5 1%, IEALR) M= A MEITRWET, 1,2 —F AT 3,40 —FX> b =i 63
-BJOvwst& A, 1vs2-3vsd/1vs3-2vsd/ D2 EZITVET, B 42
JEAGRIEEG. OB QEIEFTR @BkHE @50+ DIEETRELEY. N2 21
FiE 45— LB TR T-CAROFE 3,4k 4
K 65— LT TR T-SAROFE ABURAVN 6 (MEOSIMAKTEEHD)




o) ADZDD(FAHYT

- _:j: :/7 E;7Lén/;g/,;§’eMatch 7'_< 2 AN
1,2 =Xk 3,40 =AU b
RE 18 = BA
RE 18 = EA
63 S 60
1% BB g JAAEP
JIPY—FZATA—T 1z
K BISP
RE 18 iR MK
e 61 62
alF & bye
IVES Guenle
=]
e s 65 .
ZEE IER TR MK

FEAO0->7TZART-)



o 2RI DEANYT

Eert wZs)|| KB 1B AS(1) U6

(2016.12.231F S>+>Ji#EMA]

| H [] H& 5 O Y
1[s<[SHE R PEFA—TZARI )| Ttk | 14 7-8 4-8 0-2| 3Mu
2| IO BBES x| ik (14| 8 - 7 6-8 1-1| 2
3| |dtE #R=E BM|15| 8-4 8-6 2-0| 1£I
4
UL—)L-EEEIE) [(S>F> R4 > NigsY)

O TIBRIBRELET B 104

JERLRTESEE. OB QEIETR @BKmE @70+ DIEETRELEY, B 70
A 8- LEE/ TR FTF-TAKXDOFE ABRAON 5 (HEOSIAZKTESHD)



_—tp

oL IyF

(10

T SRR

RUTOS]
R 4k L H A

|| G — : Ce ) % s ,35 e

.......

: s
WG T 8

(10 T DE]
25 : ik %S EF(E)
#E2l . SH 88 EF(RK)
[12i% T DFF)
285 : 8 |A EF(E)
HEBRS - 22 B BF(H)




" DA PP eiense veron

FoLJTovs
AEEER

...... H H =“'“ »_L%‘ ‘I!l

b

| B -

ﬁil'F(D“BL,H

e e e e o e et Y

AAmemwm
e AT

AEE B sy }
(14T OEF] %

28 : R 8 &#F (k)
HEBRS - 1L IBH EFH) |
[16/%EL T DEB)
B . Its =X EF(K)
#EB : IO PAEEF(H)




